
Supervisors' Safety Manual, Tenth Edition
Comprehensive Examination
True or False

Directions: Circle T if the statement is True and F if the statement is False. Each true/false question is worth one point. There are 20 true/false questions. There is a total of 20 points available in this section.
	T
	F
	 AUTONUM  \* Arabic 
	Taking part in safety and health inspections helps workers learn how to recognize hazards in their workplace. 


	T
	F
	 AUTONUM  \* Arabic 
	The extent to which adult learners’ needs are considered is a major factor in the success of training.



	T
	F
	 AUTONUM  \* Arabic 
	All OSHA standards require a written plan.


	T
	F
	 AUTONUM  \* Arabic 
	A machine safeguard must meet and may exceed OSHA requirements.


	T
	F
	 AUTONUM  \* Arabic 
	The only goal of a safety management system is to comply with government regulations.



	T
	F
	 AUTONUM  \* Arabic 
	The intent of the HazCom Standard is to reduce the number and frequency of workplace illnesses and injuries caused by unprotected exposure to hazardous chemicals.



	T
	F
	 AUTONUM  \* Arabic 
	Two-wire extension cords without grounding are permissible for safe power tool operation. 


	T
	F
	 AUTONUM  \* Arabic 
	Respirators offer protection against hazards presented by vapors, dust, and fumes.



	T
	F
	 AUTONUM  \* Arabic 
	Reverse polarity is not dangerous.


	T
	F
	 AUTONUM  \* Arabic 
	Carrying a tool while climbing a ladder or other structure is safe as long as a worker has full use of one hand.



	T
	F
	 AUTONUM  \* Arabic 
	Employee adaptations of tools or the work area can be signs of ergonomic problems. 



	T
	F
	 AUTONUM  \* Arabic 
	The causes of materials handling incidents can often be traced to poor design of materials handling systems.



	T
	F
	 AUTONUM  \* Arabic 
	All employees should be given instructions on the fire alarm system in the department, plant, or area where they work.



	T
	F
	 AUTONUM  \* Arabic 
	Workers can always tell when they are in a high-risk situation in a confined space.



	T
	F
	 AUTONUM  \* Arabic 
	For a safety program to be most effective, all employees throughout the organization must buy into it.



	T
	F
	 AUTONUM  \* Arabic 
	Communication is a two-way process that involves a sender and a receiver who are both responsible for being understood.



	T
	F
	 AUTONUM  \* Arabic 
	When a hazard is found in the workplace, the preferred way to control it is with personal protective equipment.



	T
	F
	 AUTONUM  \* Arabic 
	Supervisors are often the first to notice a potential ergonomic illness or injury.



	T
	F
	 AUTONUM  \* Arabic 
	One purpose of an inspection is to improve overall safety and health performance at operating facilities.



	T
	F
	 AUTONUM  \* Arabic 
	The objective of incident investigation is to find the causes in order to prevent recurrences.




	
	For each correct answer score one point. 
Score for true/false section (of a possible 20 points):
	


Multiple Choice

Directions: Select the best answer and place the corresponding letter in the box provided. There are 40 multiple choice questions. Each question is worth 2 points. There is a total of 80 points available in this section.

	 AUTONUM  \* Arabic 
	
	When describing a hazard in an inspection report:


	
	A.
	Give general descriptions.

	
	B.
	Be as specific as possible.

	
	C.
	Leave recommending corrective actions to the person in charge of follow-up.

	
	D.
	Be as brief as possible.


	 AUTONUM  \* Arabic 
	
	Which behaviors are important to avoid if you want to be a good listener?


	
	A.
	Making assumptions.

	
	B.
	Answering too quickly.

	
	C.
	Jumping to conclusions.

	
	D.
	All of the above.


	 AUTONUM  \* Arabic 
	
	A job safety analysis relies primarily on:


	
	A.
	The expertise of the people who perform a particular task.

	
	B.
	A management team sent to observe workers.

	
	C.
	Procedures manuals that describe the task.

	
	D.
	All of the above.


	 AUTONUM  \* Arabic 
	
	Indirect costs:  



	
	A.
	Add significantly to the cost of incidents.

	
	B.
	Should be considered as a separate issue when giving reasons for a safety improvement.

	
	C.
	Are usually less than the direct costs.

	
	D.
	All of the above.


	 AUTONUM  \* Arabic 
	
	In addition to fire extinguishers, other fire fighting equipment that might be found in a facility includes:



	
	A.
	Automatic sprinkler systems.

	
	B.
	Hoses and standpipe systems.

	
	C.
	Foam or other special systems or agents.

	
	D.
	All of the above.


	 AUTONUM  \* Arabic 
	
	In controlling hazards, the best approach is to: 


	
	A.
	Wear personal protective equipment.

	
	B.
	Isolate the hazard.

	
	C.
	Engineer it out.

	
	D.
	Eliminate tasks where hazards occur.


	 AUTONUM  \* Arabic 
	
	Ergonomics is described as: 


	
	A.
	The study of how to make more profit.

	
	B.
	The study of machine operation and efficiency.

	
	C.
	The study of how people interact with their work and work environment.

	
	D.
	The study of making people more content on the job.


	 AUTONUM  \* Arabic 
	
	Which of the following is NOT a solid particulate chemical?


	
	A.
	Dust

	
	B.
	Smoke

	
	C.
	Gas

	
	D.
	Fumes


	 AUTONUM  \* Arabic 
	
	To be effective, a program to reduce tool injuries must include:


	
	A.
	Employee training.

	
	B.
	Tool inspection.

	
	C.
	Tool correction procedures.

	
	D.
	All of the above.


	 AUTONUM  \* Arabic 
	
	A successful safety management system: 


	
	A.
	Is organized and structured.

	
	B.
	Achieves and maintains high standards of safety performance.

	
	C.
	Is based on the principles of continuous improvement.

	
	D.
	All of the above.


	 AUTONUM  \* Arabic 
	
	If a problem encountered during an inspection cannot be immediately corrected:

	
	A.
	Notify whoever has responsibility for corrective action.

	
	B.
	Take no action.

	
	C.
	Wait for outside auditors to report the problem.

	
	D.
	Schedule another inspection.


	 AUTONUM  \* Arabic 
	
	The four parts of an effectively written instructional objective are:


	
	A.
	Audience, behavior, condition, and degree.

	
	B.
	Introduction, presentation, activity, and feedback.

	
	C.
	Research experimentation, recording, and marketing.

	
	D.
	Degree, quantity, frequency, and performance.


	 AUTONUM  \* Arabic 
	
	The types of incidents that should be reported and investigated include:


	
	A.
	Injuries.

	
	B.
	Property damage.

	
	C.
	Near-miss incidents.

	
	D.
	All of the above.


	 AUTONUM  \* Arabic 
	
	When using a two-wheeled hand truck, which of the following is not a correct guideline?

	
	A.
	Keep your view clear.

	
	B.
	Keep the truck on a smooth surface.

	
	C.
	Keep the center of gravity of the load as high as possible.

	
	D.
	Position and secure the load so it will not fall.


	 AUTONUM  \* Arabic 
	
	Using a risk exposure assessment tool helps in:


	
	A.
	Deciding which machines require safeguarding.

	
	B.
	Determining what kind of safeguarding a machine requires.

	
	C.
	Setting priorities for addressing the hazards found in your workplace.

	
	D.
	All of the above.


	 AUTONUM  \* Arabic 
	
	If the object is too heavy to be handled by one person:


	
	A.
	Pull the object.

	
	B.
	Push the object.

	
	C.
	Exercise caution.

	
	D.
	Get help.


	 AUTONUM  \* Arabic 
	
	Which of the following best describes the methods to comply with the HazCom Standard? 

	
	A.
	A generic outline that has your company’s name on it.

	
	B.
	A program specific to your workplace that follows performance mandates.

	
	C.
	An ANSI-derived program adapted to industry standards.

	
	D.
	All of the above.


	 AUTONUM  \* Arabic 
	
	Most ergonomic problems come from:


	
	A.
	Forceful movements over a long period of time.

	
	B.
	Repetitive movements over a long period of time.

	
	C.
	Awkward postures over a long period of time.

	
	D.
	All of the above.


	 AUTONUM  \* Arabic 
	
	Performance testing is highly recommended when: 


	
	A.
	The training involves a certification process.

	
	B.
	The risks of not mastering the skill include death, injury, or serious financial loss.

	
	C.
	The effectiveness of the training may be questioned.

	
	D.
	All of the above.


	 AUTONUM  \* Arabic 
	
	When consulting or interviewing, you should:


	
	A.
	Withhold information from the interviewee to keep the upper hand.

	
	B.
	Determine where to assign blame.

	
	C.
	Listen more than you talk.

	
	D.
	All of the above


	 AUTONUM  \* Arabic 
	
	An example of an open-ended question is:


	
	A.
	Where was he standing?

	
	B.
	Was he standing over there?

	
	C.
	Don’t you think he was standing right here?

	
	D.
	All of the above.


	 AUTONUM  \* Arabic 
	
	Which of the following is NOT an example of dermatitis, an occupational skin disease?

	
	A.
	Psoriasis

	
	B.
	Acne

	
	C.
	Dysgraphia

	
	D.
	Eczema


	 AUTONUM  \* Arabic 
	
	What is the worker/task fit? 


	
	A.
	Determining the ideal size of workers for each job and hiring workers within those limits.

	
	B.
	Achieving a match between the worker and his/her task, tools, and environment.

	
	C.
	Providing PPE that fits well.

	
	D.
	Asking workers to use smaller or larger motions to adjust to each task.


	 AUTONUM  \* Arabic 
	
	Methods of controlling hazards discovered in inspections include:


	
	A.
	Engineering controls.

	
	B.
	Administrative controls.

	
	C.
	Personal protective equipment.

	
	D.
	All of the above.


	 AUTONUM  \* Arabic 
	
	Which is the best description of a safety contact? 


	
	A.
	An opportunity for a supervisor to point out a worker’s at-risk behaviors.

	
	B.
	An opportunity for a one-on-one safety-related discussion between a supervisor and an employee.

	
	C.
	A chance for an employee to voice criticisms of management safety initiatives.

	
	D.
	A time to give out safety awards to employees who demonstrate safe behavior.


	 AUTONUM  \* Arabic 
	
	PPE requirements and guidelines can be found:


	
	A.
	On SDSs.

	
	B.
	By asking a safety professional.

	
	C.
	By asking an industrial hygienist.

	
	D.
	All of the above.


	 AUTONUM  \* Arabic 
	
	Adults learn best when they have which of the following? 


	
	A.
	The ability to control their learning.

	
	B.
	Written instruction.

	
	C.
	Group instruction with a facilitator.

	
	D.
	All of the above.


	 AUTONUM  \* Arabic 
	
	Filters that can interfere with communication include:



	
	A.
	Mood

	
	B.
	Language 

	
	C.
	Bias

	
	D.
	All of the above.


	 AUTONUM  \* Arabic 
	
	With regard to the Hazard Communication Standard, those in a supervisory capacity are required to:

	
	A.
	Understand the contents of the facility’s written HazCom plan.

	
	B.
	Know where the facility’s written HazCom plan is kept.

	
	C.
	Show any employee the HazCom plan upon request.

	
	D.
	All of the above.


	 AUTONUM  \* Arabic 
	
	Which of the following is NOT a characteristic of Ohm’s Law?


	
	A.
	It can be used to determine electrical safety.

	
	B.
	It can be expressed as Watts = Volts x Amps. 

	
	C.
	It can be expressed as Amps = Volts / Ohms.

	
	D.
	It can be expressed as Volts = Amps / Ohms. 


	 AUTONUM  \* Arabic 
	
	All of the following statements about organic solvents are true except: 


	
	A.
	They can adversely affect the central nervous system.

	
	B.
	They consist of dust, fumes, and smoke.

	
	C.
	They can cause dermatitis.

	
	D.
	They can be absorbed through the skin.


	 AUTONUM  \* Arabic 
	
	The Occupational Safety and Health Act is:


	
	A.
	A law passed by Congress in 1970.

	
	B.
	Intended to "assure safe and healthful working conditions for working men and women" in the United States and its territories.

	
	C.
	The legislation that created the Occupational Safety and Health Administration (OSHA).

	
	D.
	All of the above.


	 AUTONUM  \* Arabic 
	
	Guidelines for carrying hand tools safely include:


	
	A.
	Using a bag or bucket when carrying tools on a ladder.

	
	B.
	Carrying pointed tools in a box, cart, or belt.

	
	C.
	Giving tools to others by handing, not tossing.

	
	D.
	All of the above.


	 AUTONUM  \* Arabic 
	
	Which of the following can an organization hope to gain from increasing employee involvement in its safety and health efforts? 

	
	A.
	Increased productivity.

	
	B.
	Safety compliance.

	
	C.
	Incident reduction.

	
	D.
	All of the above.


	 AUTONUM  \* Arabic 
	
	OSHA inspectors use the General Duty Clause to:


	
	A.
	Cite employers for hazards not covered by a specific published OSHA regulation.

	
	B.
	Shut down businesses that fail to pass inspection.

	
	C.
	Assess extra penalties for lack of compliance.

	
	D.
	All of the above.


	 AUTONUM  \* Arabic 
	
	When a small fire is spotted, personnel should be trained to first:


	
	A.
	 Sound the alarm.

	
	B.
	 Attempt to extinguish the fire.

	
	C.
	 Notify a supervisor.

	
	D.
	 Seek help.


	 AUTONUM  \* Arabic 
	
	A written HazCom plan must include:


	
	A.
	Methods to inform employees about hazards from chemicals contained in unlabeled pipes in the work area.

	
	B.
	Methods to ensure that all employees have access to SDSs and understand the information they contain.

	
	C.
	Methods to inform employees of the hazards of non-routine tasks.

	
	D.
	All of the above.


	 AUTONUM  \* Arabic 
	
	When using electrical equipment in a hazardous environment


	
	A.
	It is fine to use normal equipment, but with more caution.

	
	B.
	Never use electrical equipment in hazardous areas.

	
	C.
	Use only equipment specifically designed for the specific hazards.

	
	D.
	All of the above


	 AUTONUM  \* Arabic 
	
	OSHA requires safeguarding for:


	
	A.
	Points of operation.

	
	B.
	Power transmission equipment.

	
	C.
	Other moving machine parts.

	
	D.
	All of the above.


	 AUTONUM  \* Arabic 
	
	A fire extinguisher must:


	
	A.
	Be kept fully charged.

	
	B.
	Be located along normal paths of travel.

	
	C.
	Not be obstructed.

	
	D.
	All of the above.


	
	For each correct multiple-choice answer, score two points. Score for multiple-choice section (of a possible 80 points):
	


	

	Overall total score (true/false score 
plus multiple choice score):
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Answer Key

	True/False

	1.
True (Chapter 6)
	8.
True (Chapter 9)
	15.
True (Chapter 1)

	2.
True (Chapter 4)
	9.
False (Chapter 16)
	16.
True (Chapter 2)

	3.
False (Chapter 12)
	10.
False (Chapter 14)
	17.
False (Chapter 9)

	4.
True (Chapter 13)
	11.
True (Chapter 10)
	18.
True (Chapter 10)

	5.
False (Chapter 1)
	12.
True (Chapter 15)
	19.
True (Chapter 6)

	6.
True (Chapter 11)
	13.
True (Chapter 17)
	20.
True (Chapter 7)

	7.
False (Chapter 16)
	14.
False (Chapter 8)
	


	Multiple Choice

	21.
B (Chapter 6)
	35.
C (Chapter13)
	48.
D (Chapter 2)

	22.
D (Chapter 2)
	36.
D (Chapter 15)
	49.
D (Chapter 11)

	23.
A (Chapter 5)
	37.
B (Chapter 11)
	50.
B (Chapter 16)

	24.
A (Chapter1)
	38.
D (Chapter 10)
	51.
B (Chapter 8)

	25.
D (Chapter 17)
	39.
D (Chapter 4)
	52.
D (Chapter 12)

	26.
C (Chapter 9)
	40.
C (Chapter 2)
	53.
D (Chapter 14)

	27.
C (Chapter 10)
	41.
A (Chapter 7)
	54.
D (Chapter 5)

	28.
C (Chapter 8)
	42.
C (Chapter 8)
	55.
A (Chapter 12)

	29.
D (Chapter 14)
	43.
B (Chapter 10)
	56.
A (Chapter17)

	30.
D (Chapter 1)
	44.
D (Chapter 6)
	57.
D (Chapter 11)

	31.
A (Chapter 6)
	45.
B (Chapter 5)
	58.
C (Chapter 16)

	32.
A (Chapter 4)
	46.
D (Chapter 9)
	59.
D (Chapter 13)

	33.
D (Chapter 7)
	47.
A (Chapter4)
	60.
D (Chapter 17)

	34.
C (Chapter 15)
	
	



